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PART - A
ACCOUNTANCY (Maximum Scores : 40)

Answer the following questions from 1-5. Each carries 1 score. (5x1=5
Receipts and Payment A'c is equivalentto

(a) Profit and Loss Afc (b}  Balance Sheet

(c)  Trial Balance {dy Cash Book

Under fixed capital method interest on drawing should be shown in
(a) Current Alc (b} Capital A/c

(¢} Revaluation Alc (d) Realisation A/c

At the time of admission of a partner General Reserve should be
(a) Debited to Capital Aic of old partners.
(b) Credited to Capital A/c of old partners.
(¢)  Allowed remains in- the Balance Sheet.

(d) Debited to Current Alc.

Where do you record when a partner takes an asset at the time of dissolution ?
(a) Debited in partners Capital A/c

(b) Credited in partners Capital Afc

(c) Debited in Realization A/c

(d) Credited in Revaluation A/e

Identify the situation where partnership firm is nol compulsorily dissolved.
(a)  When partner gives a notice in writing.

(b)  When all partners except one become insolvent.

{c) When a business become illegal.

(d)  When all partners except one become insane.
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6. Rani. Preethi and Meera are partners sharing P & L in the ratio of 2:2:1. Their Balance
Sheet as on March 31, 2017 as follows :

Balance Sheet as on 31-03-2017
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Liability Amount Assets Amount
Sundry Creditors 3.000 | Cash in hand 7.000
Reserve fund 3,500 | Stock 3,500
Capital Debtors 4,000

Rani 10,000 | Furniture 8.000

Preethi 10,000 | Plant & Machinery 9,000

Meera 5,000

31,500 31,500

They decided to dissolve the business. The assets are realized as follows
Plant and Machinery ¥ 10,000, Stock T 3.500, Debtors ¥ 3.750. Fumiture ¥ 7.500.
Realisation expense T 450 is met by Rani. Creditors were paid 5% less. There was an
unrecorded assets of ¥ 750, which were taken by Preethi at ¥ 500, Prepare Realization

Ale.

Answer Question No. 17 it carries 8 scores :

(1 x8=§)

The Receipts and Payment Afc of Thanal Cultural Society for the year ended
March 31, 2016 is given below. Prepare [ncome and Expenditure A'c and Balance
Sheet trom the information.

Receipts and Payments Alc

Cash in hand
Entrance fees
Subscriptions

Locker rent

Donation for building

Life membership fees

Protit from entertainment

2,800
3.000
45,000
1.300
25.000
3.000
8,000

Remt

Wages

Interest
Postage
Billiards Tahle’
Salary
Furniture

Cash in hand

88,100

20,000
10.006)
2,000
1300
15.000
25.000
10,000
4,800

BR, 100

Additional Information :
Subscription outstanding on March 31, 2015 is ¥ 1,300 and T 2.800 on March 31. 2010.
Rent related to 2013 T 1800 is'still unpaid. The value of postage stamps on 01-04-2015
2 500 and on 31-03-2016 T 300. The Cultural Society owned a furniture for ¥ 16.000 on
01-04-2015 and the value of furniture on 31-03-2016 is ¥ 23,500
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PART-B
ANALYSIS OF FINANCIAL STATEMENTS
{(Maximum Scores : 40)
Answer the following questions (1 - 5). Each carries 1 score. (Sx1=5)

The security premium amount can be wtilized by a company for
(a)  Payment of dividend (b}  Writing oft loss in scale of fixed asset
(¢} Payment of salary to staff (d}  Writing off preliminary expense

Which of the following is not a method of redemption of debenture ?
(a) Payment in Lumpsum (b} Purchase in open market
(¢)  Lottery method () Conversion into shares

If sales is 5.00.000 and net profit is 1.00.000; then Net profit ratio is
(a)}  20% (b) 25%
(c) 30% (d) 50%

The ideal level of current ratio is
(a) 1:2 by 2
c) 32 d 12

Which one of the following shows cash from investing activities 7

(a) Sale of fixed asset (b)  Dividend received
{c)  Purchase of fixed asset (d)  Cash receipt from customer
Answer any 2 questions from 6 — 8, each carries 2 scores, 2x2=4)

State the importance of Reserve Capital for a company.

Polytex Ltd. purchased its own debentures of ¥ 100 each of the face value of ¥ 20,000
from the open market for cancellation at ¥ 92, Write the Journal entry for the above
case.

In which head you will show the following item in the Balance Sheet of' a company *?
(a) Debenture

{b} Inventories

(¢} Trade payable

(d)  General reserve
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15. Compute the trend percentage from the following data :

Year Sales Stock Profit
2011 3,00,000 &0.000 12,000
2012 3,200,000 65,000 18,000
2013 - 3.60.000 50,000 = 16,000
3 0 2

2014 4,00.000 80,000 20,000

16, Glory Ltd. gives you their Profit and Loss Statement. C alculate cash from operation.

Statement of P & L for the vear ended 31-03-2016

b o Particulars [ Notes Amount
(1) Revenue from operation ‘ 1,50,000
(2) Other income

(Profit on sale of machinery 5.000 ‘
Income tax refund 2,000) 7.000
(3) Total Revenue | 1,57,000

(4) Expenses |
Cost of material consumed ‘ §8.000
Employees Benefit expense 22,000
Depreciation 8.000

. Other expenses (Loss on
Sale of equipment T 4,000

Provision for tax 2.000) 6,000
- 1,24,000
Profit after tax | 33,000

17. Modern Industry Ltd. issued 50.000 equity shares of T 10 each at a discount of 10%

payable ¥ 4 on application, % 3 on allotment, and T 2 on first and final call.

The issue was fully subscribed and all the money was duly received with an exemption
of 400 shares held by Arun who fails to pay the first and final call money. These shares
were forfeited and reissued to Kumar upon the payment of ¥ 3,000 as fully paid up.

Give Journal Entries in the books of the company. (%)
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